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= Settings: 1) Time steps = 300, 600, 900, 1200, 1500
2) Temperature levels =5, 10, 15, 20

Initial R, Time: 300, R, Time:1500, R.

1

1 il
Ri—R'=k-t > R=k-t" (Ry KR)



Mean Size (R)

Temperature Levels Temperature Levels
20 4 —&—35 3.0 = 5:n=028
i o 10 : e 10:n=0.41
18 - —a&— 15 | _ __ A _15-n=047
20 v 20:n=0.44
16
2.8 1
14 —_
x
12 £
2.6
L [
8 v u
2.4 4
6 |
T | T | T l T | T | T I T | T | T |
0 300 600 900 1200 1500 55 6.0 6.5 7.0 7.5
Time step (t) In (t)

R=k-t"(Ry < R)
In(R) = In(k) + n - In(t)

= With larger grain sizes, the more accurate value of n is obtained. (R > 3R,)
» n=0.44 (T=20) has been selected.
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